KOHTPOJIbHAS PABOTA Ne 4 I10 TEME: «JIOTAPUOMUNYECKAS
OYHKIUA».
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2) CpaBHUTE:

log(2x—1)=2
3). Peminth ypaBHEHHUE:

logl(x—S) > 1

4). PemuTh HEPaBEHCTBO:

logy x+log 7 x=14
5). Pemuts ypaBHEHHE:

log , (10— x) +log ) (x—3)=>-1
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6). Pemunth HEpaBEHCTBO:



logi x—2log, x<3
7). Pemiuth HEpaBEHCTBO:
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2). CpaBHUTS:

log,(2x+3)=3
3). Peminth ypaBHEHHE:

log | (x-3)>2
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4). PemuTh HEpaBEHCTBO:

logy x+log s x=10
5). Pemuts ypaBHEHUE:



log , (x-3)+log,(9-x]>-3
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6). Pemiuth HEpaBEHCTBO:

log; x—3log, x<4
7). Peminth HEpaBEHCTBO:





